
SECTION- A 

eeton A consists of 26 questions, attempt any 20 questions. 

J.Whieh of the following stntement is wrong 

u Cun't change the index of the Serie8. 

(b) We can easily convert the list, tuple, and dictionary into a series. 

e) A Series reprosents n single column in memory. 

(d) We can ereate empty Series. 

*What type of error is returned by the following statement 

Lmport pandas as pa 

Pa.Series ( [1 ,2,3,41. index = t'a','b','c' 1) 

Value Error 
(c) Name Error 

(b) Syntax Error 

(d) Logical error 

K Which is incorrect statement for the python package Numpy? 

(a) lt is a general-purpose array-processing package. 

b) Numpy arrays are faster and more compact 

() It is multi-dimensional arrays 

aIt is proprietary software 

4The data of any CSV file can be shown in which of the following software 

(a) MS Word b) Notepad 

(c) Spreadsheet d All of the above 

6. Which python library is not used for data science? 

(a) Panda (b) Numpy 

(c)Matplotlib dTkinter 



7 Comder the following code 
Lmport numpy as np 
Lmport pandas as pd 

L=np.array ( [10,20)) 
xpd.Series( ) statement 1 

Print (x) 

output of the above code 
1000 

S000 

dtype: int64 
What is the correct statement for the above output n the lollowing statement-1? 
(a) d=L*3 

(data=L**3 
(d) |10.20]**3 (c) L*3 

& Which library is imported to draw charts n Python 
(a) CHV 11atplotlib 

(d) pandus (c) numpy 

2 Which of the following would give the same output as DF/DFl where DF and 
DF1 are DataFranmes. 

(a) DF.div(DF) 

b) DFl.div(DF) 
Divide(DF, DFD 

Div(DF.DF) 

10 Which of the following statement Is wrong in context of DataFrame? 

(a) Two dimensional size is Mutable. 
(b Can Perform Arithm:tic operatvns on rows and columns. 

( Homogeneous tabular data strueture 

(d Create DataPrame from numpy ndarray 

. Which attribute: is not used with Datayime 

type (a) 

empty eolumns 
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2With the outset of Covid-199 chools started onlhne elasses bt dur u Continuous online elasses students health insues alo tarted. Health 
Prctitioner advised the parents to follow a few health tips. Whieh of th tollowing health tip should not be sugKested? 
(a) The sitting posture should be correet 
(b) Breaks should be taken in between the online classes. 
To protect the eyes the gadgets should be plared above eye level. 

(d) Wash the eyes regularly 

13. The following is automatically granted to the creator or owner ol any 

invention 

Patent ACopyright 
(d) License (c) Trademark 

Himanshi sets up her own company to sell her own range of eot hes on 

instagram. What type of intellectual property can she use to show that the 
clothes are made by his company 

(a) Patents 

(c) Design 
(b) Copyright 

Trademark 

15 GPL stands for 

(a) Guided Publie License 
(c) Global Public License 

General Public License 

(d) General Public Letter 

16 E-waste is becoming one of the fastest growing environmental hazards in the 

world today. If it is not properly treated or disposed of it can cause serious 

health hazards, therefore The _ has Ssued a formal set of guidelines 

for proper handling and disposal of e-waste. 

Central Pollution Control Board (CPCB) 
(b) Department of Information Technology (DIT) 

(c) Electrical and Electronic Equipment (EEE) 

(d) Information Communication Technology(1 CT) 

17 When we create a DataFrame from a list of Dictionaries the columns labels 

are formed by the 

kay Union of the keys of the dictionaries 

(b) Intersection of the keys of the dictionaries 

(c) Union of the values of the dictionaries 

(d) Intersection of the values of the dictionaries 

P.T.O. 
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I To ehungr the Wulth l har ir h which nt ti letlo n unnt 

WTn Tat val uri 

(a) hwdth 

( lih 

(c) brenth 

harw dth 

ent ity the TCC pun f i 1 nt t our1h 

fcolumn- from a DataPr:ne t 

(a) display(Dat.tnloel ) 

nlay1Data.iloc[ 
printData il:) 4. 1 1 

(d) print(Data.ilori: 4. ) 

20. Which of the follwing onima rd tor ttagwrt u:atgploth for cudk 

1) mport matplotih plat is 

(h) mport plt.111atploiih a- plt 

(c) mport py.atplotilh asplt 

(d) mport pyplot, 1.itplot libh as plr 

2 Coi1 follow 1ig -i.lemie i1- wIh rere io i eharis 

A Lne zrajt 1 to fur run.pariat and i ewated by 
plotng a sere severl oni- ! oet ing 1hem witn a s Ylght 

Statement 

line. 

Statenent iB You shunuld n us l:tl ciart hen the ciart is I 

Cotilous data set. 

tatenient I CITeet 

(b) Statument I LOrC 

(ci Statement Ais T tiat Sten nt is113 

22 What is nt true auur Dat Sliz.itn" 

(a rphical epre- "itatur l ialm tit1) nd datn 

J lelps users m a1al zng 1 1.rg n nt ot data n a smplor way. 
(c) Data uialyati .r ctnplex 

der-tandiahie. it tisnisle 
AO lubriry egK to e i1lel 'ctaie charts 1PThun Eingu.e 

rCessithle 
rdiat nore 
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23 Which attr1bute is used with Series to count the total number of NadN values 
(a) si 

ount 

Consider the following Series in Python : data = pd.Series(6. 2. 3,7]. index=[a, 'b. 'c, d) 

len 
(d) count total 

Whrch statement will diplay nll odd values 
(a) print (data%2=0) (b) print(data(data%2!=0)) 

(d) print (data[datas2=0) print(data mod 2'=0) 

25. Priya is a student of class 10 and she is a very frequent user af internet 

appications.One day she got an unpleasant message on her instant 

messenger. What do you think she should do ? 
(a) Start chatting with an unknown person 
talk to her parents/teacher or other trusted adult and let them know 

that she is feeling uncomfortable. 
(c) Ignore the conversation. 

(d) She should delete the chat so that no one comes to know. 

SECTION- 
Seetion B consists of 24 question (26- 49). Attempt any 20 questions 

26. What will be the output of the following code
" 

Lmport Pandas as pd 
import numpy
$pd.Series (data=[31,54,34, 89, 12,23],dtypeaupy.int) 

print (s>50) 
(b) (d) C) 

0 False 54 True 

Trae 3 9 54 3 True 

2 False dtype: int64. |2 34 dtype: bool 

3 True 89 

False 12 

False 5 23 5 

dtype: bool dtype: int64 

27 The primary law in India deal1ng with cybercrime and electronic commerce is 

(a) India's Technology (1T) Act, 2008 

(b) India's Digital Information Technology (DIT) Act, 2000 

India's Information Technology (1T) Act, 2000 

(d) The Technology Act, 2008 

P.T.O. Page 7 
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28 Consider tie follosri statenint ihf to Tha nitn y 

Statement T: Traileniark leat itie t . y ler 

Statement 2: Hi« kimt i he f 1,iut iearid f T 
1e WOrk or a) )V it it 

b Siatement False L.t Statea Tr 
(c) Both the statnints Tr 
(d) 5th tie sl atene s ale 

29. C'onsider a following LitaFr.im 
1mport pardas as Pa 
Pd.Series (data [2 434 39 12 23)) 

df=pd.DataFrame () 

Which tatemnl will be t t1e1 1 output as 

(a)rntidi.indeP 
*)print (dt.nlinm 

lttt.shape0 

)prut (oli,vant1es) 

34 Sandhya want to dply ti ltt lhnii ruts s tit iite (i:tiira.it u! 'int ele 1ia 

writien tlie tollow ng cotriitt 
df.tail{) 
But the first ) rOW are he iig diylaved. Tu rertily thi pimblr-m. which of the 

followig statementhould be wifio7 

(a) df.head) tb}if tasi4) 

3K There ix only I day left or R:av a i tlnil lur Sen projert. Thereturt 

she pertoriet the ioll WIDg "tiNtes tt comple te her tiask ci the 

ollowing ctivites can hee omilevel a plauane 

(a) Dowoaded the mzes Ihi Wee rkd a and asted in her 

ut lile 

MCoped the content trm O ebee aic! i iti n ber ilk 

i 1he proet. 

Work ith 
(a) Ttent 

(th yi1ht

(t) Pt11 

' 
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E3 Consider the following series pa. Series(( °C* ,'0','M','T','o','R''T'.'A ,'B ."L"ET 
ndex 2,2,3,4,5,6,7,8,9,10,1l)) 
pin er (: 

(C) 

F 4 4 F 5 

5 O O 6 

R 7 

A 

8 A A B 

dtype: object 9 B 

10 dtype: object |11 E 

dtype: object 11 E 

dtype: object | 

34 Nowadays for developing Machine learning projects programmers rely on 

SV iles rather than databases. Why ? 

() csv can be used with proprietary 
softwares only. 

(b) cSv iles can be downloaded from open source websites free of cost. 

(c)csv files need not be imported w'hile creating the projects 

Sd csv is a simple and well tormatted mode tor data storage 

35. Companies get their Trademark reg1stered to protect? 

)logo8, names and brands 
(b) word, phrase, or syinbol 

(C) slogans, stylized tonts, and colors 

(acompany furniture, worker, brands 

36 DataFrames can be created from? 

(a) lists 
(b) dictionaries 
ldy all of the above 

(cseries 

3K Rohit forgot his laptop in his car and when he came back he found his laptop 

was missing. This act is 

(a) Cyber crime 

Jet Theft 

Consider the following statements 

Statement A: .loc) i8 a label based data selecting method to seleet a specifie 

row(8) or column8) 
which we 

want to select. 

Statement B : .ilococan not be used with default indices if customized 

indices are provided. 

Statement A 1s True but Statement B is False 

b) 
Statement A is False but Statement B is True 

(c) 
Statement A and Statement B both are False 

Statement 
A and 

Statement B both are T'rue 

(b) Phishing 
(d) Plagiarism 

P.T.O. 
Page s 
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46. Abhilasha forgot 
gmail id to send mail. This act of Aditi is considered a 

Sgn out from her gmail id and Aditi used Abhilasha * 

(a) Plagiarism 

(c) Phishing h) ldentity Theft 

(d) Piracy 

* The trau that is automatically created when a person uses the 

any digital devices like Laptops, smart phones, tablets ete is cuue (a) Cyberbullying 

ternet 

(b) Phishing 

Digital Footprint Digital Activity 

48. operating system comes under FOSS. 
aUbuntu (a) Windows 

(c) Mac (d) Oracle 

199 Sushila has created a DataFramne with the help of the following code : 

import pandas 

EMP=/EMPID': [ "EO1', E02, EO8', E04, EO5), 

EMPNAME TKISHORT;PRIYA', DAMODAR, REEMA", MANOJ|. 

EMP_SALARY: (67000,34000,68000,90000,43000 

df=pandas.DataFrame(EMP,index=[001',002,003,'004',005']D 

print (dfloc[0:3.:)) 
and she wants to get the following output 

EMPID EMPNAME EMP_SALARY 

001 E01 KISHORII 67000 

002 E02 PRIYA 34000 

003 E03 DAMODAR 68000 

Help her to correct the code 

(a) print(df.iloe[001':003'.:)) print(df.loc/001:003,: 
(c) print(EMP[loe[0:3,:1) (d) print(df. loc|001':004,)) 
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4 Mr. Raman created a DataFrame from a Numpy array 
aTTnp.array ([l2, 4, 81. (3, 9, 271.[4,16, 64)1) 
df-pd.DataFrame (arr , index=[ 'one','two' ,three print (df) 

Relp him to add a customized column labels to the above Dataf rame 
(a) columns=no', 'sq. "cube' 

(b) column=fno', 'sq'. "cube'] 
er columns=|no', 'sq. 'cube] 

(d) columns=|['no', 'sqj, 'eube'll 

42What will be the output of the following program 

import pandas as pd 

di=|'Name' : [' Sapna", Anmol','Riahul ', 'Saneepl. 
Agg(56, 67,75, 761. 'Aga': [16,18,16,19]) 

df-pd.DataFrane (dic, columna=[ 'Name', 'Age' 1) 

print (df) 

Name Age Age (b) Name Agg Age (a) 

101 Sapna 56 16 0 Sapna 56 16 

102 Anmol 67 18 1 Anmol 67 18 

103 Rishul 75 16 2 Rishul 75 16 

104 Sameep 76 19 Sameep 76 19 

Name Name Age C) 

Sapna 0 Sapna 16 

Anmol 1 Anmol 18 

2 Rishul 2 Rishul 16 

3 Sameep 
3 Sameep 19 

090 
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Coader the followng ode 
mport pandan as pd 

Sl=pd 3eries ( [23.24. 35 56 
s2 pd Series ( [27 12,i4.15) i ndex= [E. Y.'cab 1) 
df-pd DataFr ane (S1+32) 

na le x=i. h 

Print(df) 
Outn tr the a n 

NaN 
t N 

NaS 
NaN 

36 

ate DataFrime with A Sudhanshu has wntteti th olloa 
bonlean index 

port numpy as np 

1mpo t Pandas as pa 

df pd Data Fr ane ( da tawi136 1 andax- [true falso true] i 
PE1nt (df) 

hle 1t itix the riall t 
fdDat.1Fr. TrtF 

i1ped D).ttaal t.1101ed t Trt F 

(c d-pd Da1.Frt 
Tr) 

. The rieifs of the iw iie t h11 tt. n 
e harfsi hinerdi trt 
autellhzeni P'rt.ab iighi 

( tactis Prnig rtt R ) 
t Prpe rty Riuht 
R: 
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ertinC consints of i qest n(i9-56). 
Attempt 

any 
5 guestion SECTON 

Case Study 

* ar mnta the rorrdn l all ntnedent t er 
i. 

Code : 

port pandan a P 
Rollno' 101,102,103, 104, 105, 106, 10' 

Name shubrat.o' 'Rr iohna" 

andhya"Aurobi ndo 
Age' [15,14,14, 15,16,15,15]. 

Markn' 77 9,70 4, 60. 9,80 3,96.5,67.7,85 

Pranphu Gurpreet AEp 

Ade i1, '11A' , '11B', '11C','11E' .'11A'. '11c' ]} 

ar pd. DataFtame (t, index= [10,20, 30.40,50, 69,70J) 

print (df) 

Output ul the abve col 

Rll Name Age Mar Grate 
Shubrat 779 

Krihna 70.4 A 20 2 

0 103 Prnehu 
BO. Gurpre 

p 

1A idhya 

70107 Aurobndo 16 85.0 1IC 

Baeed on the iven Intormati01. an»wer queson No. 505i 

0. Selet the correct statement or the below output: 

Krishua Name 

A 11 

Grade 1LA 
Nane type: obyect 
(a) prt(df.ikr|2|) (b) print (df.loe|2) 

(e) print(df.iltn|20 
prntuif.loe|20}) 

090 
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39Abhas tn a st udent of a ai w fe har created the Data n b deleip hm br ideat fh t l DataFrame 
Code 

port panda as pd 

Pih par 
tunane[ Muskan kadi. 1 kn 
termi-t 70,63. 74,91 
tera2-t67 70 86. 351 

a if ipl.Ditafrat 

PatalranaiftunLte trml er lu ta- 
marks2"]) 

te dpd DataFrabiritatare tem 
( PD dataframet tun h- 

0. Ms halpana w rk r ith n Tmp.ativaf h ait-11 it fron. the data pris de d 

She eenerate- ihe lollv 

Whurhatenent is ti t 
()plt jphotiN.y,th h-1/ 
pi piitt itk 

(dpit pliti mrk 
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The teacher want to kuow the ma e crTert an 
Oniy. W hich statement would help her to (a) printtdf.lucf60.70:Mark ) 

the 

second last stident 

pryntrdi. loc|60:60, NMark* ) 

prnt(dt.iloc|-2-|.|Mark-) printidfl-2:-2| ih 
n ol the following statement (s) will add a nev column ee at 

P O With values [3200,3400,4500.3100.3200, 4000,3700] 1n alar 

a df.insert(loc=2.colurnn= fee',value=|3200.3400 4500,3100,320), 1000, 
3700)) 

f" 

add(2.columu- fec [3200.340) 45t0,3100,3200. 4000, 37011f) 

df.append(loc=2. fee=|3200,3400.4500,31003200, 4000,7O0J) 

(d) df.insert(loe=2. fee 3200.3400,4500.3100,3200,4000,2700) 

AWhich of the íollowing commands is used to delete the coiunn tirade in the 

Datarame dí? 

dt.drop(Grade axis=l,inplace=True) 
(b) df.drop(Grade asis=0,inplace=True) 

(c) df.drop|Grade .axis=l.inplare=Truej 

(d) df.deletef Grade,axis=l.inplare=True) 

54Which of the follow ing command would rename the column "NIarks to 

Halfyearly' in the IDataFrame df? 

(a) df.renamet(MMarks,Halfyearly"1.inplace=True) 
(b) df.renanef"Marks. Halfyearly i.inplace=True) 
(c) dfren1metcolumns="Mark*: Halfyearly"'t.inplaee=Tre) 

it.rename|Mark:""Halfyeariy ].inplace=True) 

. Which of the following commands will displa the Nanes and Marks ot ill 
student gctting more than s0 marks ? 

aprnttdi.loef Mark:>80,| Name Marks ]) 

(b)prnt (df.loc|d|' NMark=|<s0,. Name' Marks) 

(c) print(df. loejd| Marks" ]<80'Name". Marks"'|| 
(d) print(df.loc|di|'Mark: ]>80,[Name, Marks | 
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